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RealOl Answers for No.10441

Ansl =[a=0,b=0,c=-1]
d=[p(x)+qx)=4x"+4x+1] 2=[p(x)-q(x)=-2x"—4x-3]
3=[q(x)-p(x)=2x"+4x+3] 4=[mp(x)-nq(x)=-12x>-20x—13]

S=[p(x)qx)=3x"+4x - x*—4x-2] G=[[p(x)=x'—2x"+1]
Ans3=[p(x)q(x)=x*-5x +8x" =30’ + 15x* = 15x + 6]
Ansd=[a+b=-4,ab=-5], , AnsS5=[a=2,b=5,ab=10]
Ans6=[P(x)=x4+2x3+5x2+13x—2]

Ans2 =

X

Qx)=2x"+3x"—4x+1

R(x) =4
5= }

Q(x)=x
R(x)=4x-5
5_{Q(x)=2x3—4x}
- R(x)=8x-5

N

Ans7 =
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Q(x)=2x+3 }
R(x)=—4x" +x" +4
Q(x):x3+3x2+2x}
R(x)=-1
Q(x):x3+6}
R(x)=2 |
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RealOl Answers for No.10442

X
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Ansl =[a=4,b=0,c=-4]

1 =[p(x)+q(x)=4x"—4x-6] 2=[p(x)—q(x)=-2x"+4x-4]
Ans2 = 3=[q(x)-p(x)=2x"—4x+4] 4=[mp(x)-nq(x)=-5x"+12x-17]
J=[p(x) q(x):3x4—4x3— 16 x° +20x+5] .62[[p(x)]2:x4— 10 x* +25]

Ans3=[p(x)q(x)=x*-x" —15x*+ 12 =6 x> = 18 x + 18]
Ansd=[a+b=-T,ab=10], , AnsS=[a=-4,b=3,ab=-12]
Ans6=[P(x):x4+x3—7x2—3x+ 1]

_]_|:Q(x):x3+4x2+x_3j| 2_[ Q()C):)C+4 }_
T R(x)=3x TR =x -3 +3x
_ | Qlx)=x } _{Q(x)=x3+x2+x—4}
Ans7 = '3_[R(x):7x—6 4= R(x)= 14
5_[Q(x)=4x3—12x} 6_{Q(x)=x3+7}
L 7 L R(x)=36x-5 L R(x)=12 ]
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RealOl Answers for No.10469

Ansl =[a=0,b=1,c=
d=[p(x)+q(x)=3x"+2x-4]

]

-1
2=[p(x)-q(x)==x>-2x+6]

X

Ans2 = 3=[qx)-p(x)=x"+2x—-6] 4=[mp(x)-nq(x)=—x"—4x+13]
S=[p(x)qx)=2x"+2x=3x"+2x-5] G=[[p(x)=x'+2x"+1]
Ans3=[p(x)q(x):x5—2x4—6x3+2x2+8x—4]
Ansd=[a+b=2,ab=-24], , AnsS=[a=-4,b=2,ab=-8]
Ans6=[P(x)=x"-3x —=5x"+20x - 3]

_]:[Q(X)=4x4—3x3+x2+4x—1} 2:[ Q(x)=4x-3 }
’ R(x)=-1 ' R(x)=x+4x —x—-1
X)=x X)=x+3x-8
Ans7 = '3:{R(Qx():)x—2} 4:{(2( )R(x):15 }
5:{Q(x)=4x3—12x} 6:[Q(x):x3+8}
i R(x)=36x+3 R(x) =21 ]
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RealOl Answers for No.10479

Ansl =[a=0,b=3,c=-3]
d=[p(x)+q(x)=3x"+3x+3] 2=[p(x)-q(x)==x*-3x+7]

X

Ans2 = 3=[q(x)-p(x)=x"+3x—-7] 4=[mp(x)-nq(x)=x"—6x+29]
S=[p(x)qx)=2x"+3x+8x+15x=10]  .6=[[p(x)]*=x"+10x"+25]
Ans3:[p(x)q(x)=x6—3x5—2x4+4x3—15x2+x+6]
Ansd=[a+b=2,ab=-48], , AnsS=[a=-3,b=2,ab=-6]
Ans6=[P(x)=x"=5x +6x" = 25x+7]
_]:[Q(X)=5x4+x3—4x2+3x—2} 2:[ Qx)=5x+]1 }
' R(x)=-2 TR =4 +3x-2x-2
X)=x X)=xX +x —2x+2
Ans7 = '3:[R(S)(:)4x—2} ‘4:[Q( : R(x)=-8 }
5:{Q(x)=2x3—2x} 6:[Q(x):x3+5}
i R(x)=2x+3 R(x) = 14 ]
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RealOl Answers for No.10506

Ansl =[a=-4,b=-2,c=1]

.]=[p(x)+q(x):4x2+5x+7] ,2:[p(x)—q(x):—2x2—5x—]]
Ans2 = 3=[qx)-p(x)=2x"+5x+1] 4=[mp(x)-nq(x)=—4x"—15x+3]
S=[px)qx)=3x"+5x +13x" + 15x + 12] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x):x5+3x4+2x3—4x2—2x+8]
Ansd=[a+b=-1,ab=-30], , AnsS=[a=-5.b=1,ab=-5]
Ans6=[P(x):x4—x3+7x2—2x+6]

_]_[Q(x)=5x4—x3—x2—3x+3} 2_[ Q(x)=5x-1 }
T R(x)=2 TR = =37 +3x+2
_ _ Q(x)=x } _{Q(x)=x3+6x2+15x+28}
Ans7 = '3_[R(x)=4x—7 4= R(x)=52
5_[Q(X)=3x3—3)1 6_[Q(x)=x3+4}
L L R(x)=3x+2 7L R(x)=0 i
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RealOl Answers for No.10514

Ansl =[a=3,b=1,c=2]
d=[p(x)+q(x)=4x"+5x-9] 2=[p(x)-q(x)=—2x"-5x-1]
Ans2 = 3=[q(x)-p(x)=2x"+5x+1] 4=[mp(x)-nq(x)=-11x>-25x]
S=[p(x)q(x)=3x"+5x-19x*=25x+20]  .6=[[p(x)]*=x"—10x"+25]
Ans3=[p(x)q(x)=x-3x - 9x" + 15X +22x° —6x— 8]
Ansd=[a+b=8,ab=-9], , AnsS=[a=5,b=1,ab=5]
Ans6=[P(x)=x"—7x +6x* =37 x+3]

_1_[Q(X)=5x3—x2—x+3} 2_[ Q(x)=5x-1 I
L R(x)=-3x-2 TR = +3x7-3x-2
_ _ Q(x)=x } _[Q(x):x3+2x2—4x+7}
Ans7 = 3 _[R(x)z—Sx— 1 4= R(x)=-10
5_[Q(x):4x3—12x} 6_{Q(x)=x3+4}
L 7 L R(x)=36x-3 7L R(x)=-3 ]
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Real0l Answers for No.10520
Ansl =[a=4,b=4,
J=[p(x)+qx)=5x"+3x+4]
3=[q(x)-p(x)=3x"+3x-6]
S=[p(x)q(x)=4x"+3x+19x*+15x—5]

Ans2 =

Ans3=[p(x)q(x)=x6— 11x°+36x"—
, AnsS=[a=T7,b=2,ab=14]

Ansd=[a+b=-4,ab=3],

_2]
2=[p(x)-q(x)==3x"-3x+6]
4=[mp(x)-nq(x)=-7x"—9x+28]

6=[[p(x)=x"+10x>+25]
30 +6x*—36x+36]

CcC=

Ans6=[P(x)=x"=3x +5x"—11x+1]

]:{Q(x)=2x4—2x3—2x2—3x+2
R(x)=-2
Ans7 = -3:{ Qx) =x }
R(x)=6x-3
5:{Q(x)=2x3—4x}
L R(x)=8x+5

0007]

[Page

Q(x)zzxz—zx—z]

R(x)=-3x*+2x-2

Q(x)=x3+x2—2x+4}
R(x)=-4 }

|-
N
.

Q(x) =X +7
R(x)=18
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X

RealO0l Answers for No.10638

Ansl =[a=4,b=0,c=2]
2=[p(x)-q(x)==3x"+2x-2]
4=[mp(x)-nq(x)=-13x"+8x—5]

6=[[p(x)=x"—6x"+9]

d=[p(x)+q(x)=5x"-2x—4]

Ans2 = .3:[q(x)—p(x)=3x2—2x+2]

S=[p(x)q(x)=4x"-2x - 13X+ 6x+3]
Ans3=[p(x)q(x)=x*-6x +3x" =3x +22x* =33 x+12]

Ans4d=[a+b=-5ab=-36],

, AnsS=[a=-5,b=7,ab=-35]

Ans6=[P(x)=x'+xX +2x° +6x—3]

]:{Q(x):5x3—4x2—2x—4
R(x)=x-4
Ans7 = ,3:[ Qlx) =x }
R(x)=-5x-3
5:[Q(x):4x3+12x}
L R(x)=36x-5

0008]

[Page

|
»

[Q(x)=5x2—4x—2}
R(x)=—4x" +x—4
Q(x):x3—x2+3x—5
R(x)—13}

‘6:{Q(X)=x3
R(x)=-5

|
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RealOl Answers for No.10639

Ansl =[a=-4,b=4,c=-4]

I=[p(x)+q(x)=4x"—4x+38] 2=[p(x)-q(x)=-2x"+4x]
Ans2 = 3=[q(x)-p(x)=2x"—4x] 4=[mp(x)-nq(x)=-9x"+ 16 x— 4]
S=[p(x)q(x)=3x"-4x"+16x"~ 16x + 16] 6=[[p(x)=x"+8x"+16]

Ans3=[p(x)q(x)=x"-2x"+8x" —4x’ + 16 x> — 8 x + 24]
Ansd=[a+b=3,ab=-4], , AnsS=[a=-4,b=7,ab=-28]
Ans6=[P(x)=x"+4x —x* = 3]

_]_[Q(x)=3x4_x3+3x} 2_[Q(x)=3x—1}
T R(x)=-3 TR =3 =3
_ | Q) =x ~ Q(x)=x3—x2+2x—2}
Ans7 = '3_[R(x)=—5x—6} '4{ R(x)=5
5_{Q(x)=3x3+9x} 6_{Q(x)=x3+2}
L 7 LR(x)=27x+2 7L R(x)=3 ]
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RealOl Answers for No.10671

d=[px)+q(x)=3x"+x—1]

Ansl=[a=-1,b=2,c=-4]

2=[p(x)—q(x)=—x"—x-5]
4=[mp(x)-nq(x)=-6x"—5x—-22]

Ans2 = .3:[q(x)—p(x):x2+x+5]
S=[p(x)gx)=2x"+x—4x"-3x-6]
Ans3=[p(x)q(x)=x*+4x —17x*' =30 =3 x* + 6 x + 15]
Ans4d=[a+b=13,ab=40],
Ans6=[P(x):x4—3x3+x2+3x—5]

_']:[Q(x)=3x3—3x}

Ans7 =

R(x)=-2x-3
3:[ Q(x) = }
’ R(x)=3x+7

B

Q(x)=4x"-12x
R(x)=36x+5

|

]
/|

G6=[[p(x)=x'—6x"+9]

Q(x) =

|

Q(x)=3x }

R(x)=-3x-2x-3

X +6x +18x+ 54

R(x)=159
Q(x) =x + 2}
R(x)=1

, AnsS=[a=-6,b=3,ab=-18]

|
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RealOl Answers for No.10751

Ansl =[a=-4,b=-3,c=1]

d=[p(x)+q(x)=5x"+3x] 2=[p(x)-q(x)=-3x"-3x-28]
Ans2 = 3=[q(x)—p(x)=3x"+3x+38] 4=[mp(x)-nq(x)=-17x" - 15x - 32]
S=[p(x)q(x)=4x"+3x" - 125"~ 12x - 16] 6=[[p(x)=x"-8x"+16]

Ans3=[p(x)q(x)=x"+3x'—x’ = 22x* - 42 x-20]
Ansd=[a+b=10,ab=21], , AnsS=[a=-6,b=4,ab=-24]
Ans6=[P(x)=x"=3x -7x*+26x-2]

]:[Q(x)=4x4+3x3_4x2+3x—4:| 2:|:Q(x):4x2+3x—4}
' R(x)=0 ' R(x)=3 - 4x
Ans7 = '3:{ Qx) =x } ‘4:{Q(x)=x3+2x2—6x+21}
R(x):Zx—Z R(x):-64
5:{Q(X)=2x3+61 6:{Q(X)=x3+6}
L R(x)=18x+5 ’ R(x)=15 ]
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RealOl Answers for No.10772

Ansl =[a=-4,b=1,c=2]

.]=[p(x)+q(x):5x2—5x—6] .2=[p(x)—q(x)=—3x2+5x]
Ans2 = 3=[q(x)-p(x)=3x"—5x] 4=[mp(x)-nq(x)==3x"+10x-9]
S=[p(x)q(x)=4x"-5x-15x"+15x+9] G6=[[p(x)=x'—6x"+9]

Ans3=[p(x)q(x)=x"+5x"=32x* —46x— 12]
Ansd=[a+b=-4,ab=-12], , AnsS=[a=-1,b=5,ab=-5]
Ans6=[P(x)=x'—x = 7x*+13x—7]

]:[Q(x):4x3+4x2+3x+3} 2:[Q(x)=4x2+4x+3}
' R(x)=-3x+2 T [R(x)=3x"-3x+2
dns7 '3:[ Q(x)=x } ‘4:{Q(x):x3+x2—4x+14}
R(x)=5x-5 R(x)=-43
5:[Q(x):3x3+6x} 6:[Q(x):x3+l}
L R(x)=12x-4 ' R(x)=0 i
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RealOl Answers for No.10777
Ansl =[a =3,
d=[p(x)+q(x)=5x"+2x-7]

Ans2 = .3:[q(x)—p(x)=3x2+2x+1]

S=[p(x)qx)=4x"+2x - 19x* -8 x+12]

b=4,c=-4]
2=[p(x)-q(x)=-3x"-
A4 =[mp(x)—nq(x)=-11 X

6=[[p(x)]=x" -84

Ans3=[p(x)q(x)=x*-5x —2x"+5x =30x"+15x+10]

Ans4d=[a+b=4,ab=-45], ,
Ans6=[P(x)=x"-3

_1_[Q(x)=2x3+3x2—3x+4
T R(x)=2x+3
_ | Qx)=x
Ans7 = 3 _[R(x)=—4x+5}
5_{Q(x)=3x3—9x}
L LR(x)=27x-2

X [Page = 0013]

AnsS=[a=3,b=6,ab=18]

X +4x —8x-3]

} 2_[ Q(x)=2x+3
TR =3 +4x7+2x+3
4:{Q(x):x3+6x2+14x+45

R(x) =138

6:{Q(x) =x3}
R(x)=-5

|
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2x-1]
~8x—-8]
+16]

}_
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RealOl Answers for No.10816

Ansl =[a=-2,b=3,c=-5]

d=[p(x)+q(x)=3x"+5x—4] 2=[p(x)—q(x)=—x*-5x-2]
Ans2 = 3=[q(x)-p(x)=x"+5x+2] 4=[mp(x)-nq(x)=-6x"-25x-7]
S=[p(x)qx)=2x"+5x -7 = 15x+3] 6=[[p(x)=x"—6x"+9]

Ans3=[p(x)q(x)=x"-3x =5x" =5 +21 x* + 7x-30]
Ansd=[a+b=-5,ab=-24], , AnsS=[a=-T,b=1,ab=-7]
Ans6=[P(x)=x"=5x+3x*—10x+7]

]:{Q(x)=2x4—x3—3x2+3x—3} 2:[Q(x)=2x2—x—3}
‘ R(x)=0 ’ R(x)=3x*-3x
Ans7 — '3:[ Q(x)=x } '4:[Q(x):x3+6x2+13x+27}
R(x)=-5x+4 R(x) =150
5:{Q(x)=4x3—12x} 6:[Q(x):x3+4}
i R(x)=36x+5 ' R(x)=11
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RealOl Answers for No.10818

Ansl =[a=-2,b=-5¢c=2]

d=[p(x)+q(x)=3x"-3x+3] 2=[p(x)—q(x)=-x*+3x-5]
Ans2 = 3=[q(x)—p(x)=x"-3x+5] 4=[mp(x)—nq(x)=—6x"+15x—24]
S=[p(x)qx)=2x"-3x+2x+3x-4] G=[[p(x)=x'—2x"+1]

Ans3=[p(x)q(x)=x*+2x +9x* +8x’ +15x* = 10 x — 25]
Ans4d=[a+b=T7,ab=10], , AnsS=[a=1,b=2,ab=2]
Ans6=[P(x)=x"—7x —6x*+46 x + 5]

]:[Q(x)=5x3_2x+l} 2:[Q(x):5x2_2}
' R(x)=x ’ R(X)=x2+x
Ans7 = ‘3:[ Q(x)=x } ‘4:{Q(x)=x3+4x2+12x+24}
R(x)=-6x-6 R(x) =46
5:[Q<x>=3x3—3ﬂ 6:[Q(x)=x3+4}
L R(x)=3x-2 ' R(x)=9 |
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RealOl Answers for No.10827

Ansl =[a=-4,b=-2,c=0]

d=[p(x)+q(x)=4x"—3x+1] 2=[p(x)-qx)=-2x+3x-3]
Ans2 = 3=[qx)-p(x)=2x"-3x+3] 4=[mp(x)-nq(x)=—9x>+12x—11]
S=[p(x)qx)=3x"-3x ¥ +3x-2] G=[[p(x)=x'—2x"+1]

Ans3=[p(x)q(x)=x"+4x' =X =22x* =22 x+10]
Ansd=[a+b=-8,ab=-9], , AnsS5=[a=3,b=6,ab=18]
Ans6=[P(x)=x"+7xX +5x*+37x—-1]
_']:[Q(x)=2x3—2x+4} _2:{ Qx)=2x }
R(x)=3x+3 R(x)=-2x+4x"+3x+3
. ‘3:{ Qx)=x } ‘4:{Q(x):x3+7x2+18x+50}

R(x)=6x—3 R(x) = 154
5_{Q(x)=2x3+4x} 6_[Q(x):x3+4}
L 7 L R(x)=8x+3 7L R(x)=-10 ]
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RealOl Answers for No.11443

Ansl =[a=-1,b=-4,c=1]
d=[p(x)+q(x)=4x"+5x—4] 2=[p(x)-q(x)=—2x"-5x-6]
3=[q(x)-p(x)=2x"+5x+6] 4=[mp(x)-nq(x)=—x"—10x—-27]

S=[p(x)q(x)=3x"+5x" - 14x" - 25x - 5] 6=[[p(x)]=x"-10x"+25]
Ans3=[p(x) q(x)=x"+10x" +19x° =33 x> = 15 x + 18]
Ansd=[a+b=5,ab=-36], , AnsS=[a=-6,b=4,ab=-24]
Ans6=[P(x)=x'-5x +2x = Tx—-7]

Ans2 =

X

_1_[Q(X)=4x3—2x2+3x—4} 2_[ Q(x)=4x-2 }

T R(x)=-3x-3 TR =3 -4x"-3x-3

_ | Qx)=x } _{Q(x)=x3+7x2+20x+59}
Ans7 = 7 _[R(X) =-—x+6 = R(x)=178
5_[Q(X)=3x3+9)1 6_[Q(X)=x3+6}

L LR(x)=27x-2 | R(x)=4 |
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RealOl Answers for No.11795

Ansl =[a=-2,b=4,c=3]

J=[p(x)+q(x)=5x"—x+8] 2=[p(x)-q(x)=-3x*+x-2]
Ans2 = 3=[q(x)-p(x)=3x"-x+2] 4=[mp(x)-nq(x)=-3x"+2x+5]
S=[p(x)qx)=4x'—x+17x* =3 x+15] G=[[p(x)=x'+6x"+9]

Ans3=[p(x)q(x):x5+3x4+4x3+2x2—8x—8]
Ans4d=[a+b=5ab=-14], , AnsS=[a=-7,b=1,ab=-7]
Ans6=[P(x)=x"=3x+7x* - 16x+7]

]:[Q(x):5x3_4x2+2x+3} 2:[Q(x):5x2_4x+2}
' R(x)=1 ' R(x)=32+ 1
Ans7 = ‘3:{ Q(x)=x } ‘4:[Q(x):x3+3x2+6x+11}
R(x):Sx—S R(x):26
5:[Q(x):4x3+12x} 6:[Q(x)=x3+6}
L R(x)=36x-3 ' R(x)=9 |
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RealOl Answers for No.11874

Ansl =[a=3,b=-1,c=0]
I =[p(x)+q(x)=5x"-4x-2] 2=[p(x)-q(x)=-3x"+4x+4]

Ans2 = 3=[q(x)-p(x)=3x"—4x—4] 4=[mp(x)-nq(x)=-16x>+20x+19]
S=[p(x)qx)=4x'-4x +x¥* - 4x-3] G=[[p(x)=x'+2x"+1]
Ans3=[p(x)q(x)=x*+4x —14x'+4x° —6x* =36 x + 12]
Ans4=[a+b=6,ab=-16], , AnsS=[a=5,b=4,ab=20]
Ans6=[P(x):x4—7x3—x2+9x+5]

]:{Q(x):3x4—3x3+x2+3x+3 2:[Q(x)=3x2—3x+1}
‘ R(x)=-3 R(x)=3x"+3x-3
Ans7 — '3:[ Q(x)=x } '4:[Q(x):x3+7x2+24x+76}
R(x)=-7x+4 R(x) =225
5_[Q(X)=3x3+9)1 6_[Q(X)=x3—l}
L LR(x)=27x-4 L R(x)=0 i
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RealOl Answers for No.11877
Ansl =[a=0,b=1,c=4]
d=[p(x)+q(x)=4x"-5x] 2=[p(x)-q(x)==2x"+5x-10]
Ans2 = 3=[q(x)-p(x)=2x"-5x+10] 4=[mp(x)—nq(x)=-9x" +20x—35]
S=[p(x)qx)=3x"=5x-10x*+25x-25] 6=[[p(x)=x'—10x"+25]
Ans3=[p(x) q(x)=x*+4x —x* +16 X’ =26 x> = 24 x + 30]
Ansd=[a+b=3,ab=2], , AnsS=[a=-4,b=T7,ab=-28]
Ans6=[P(x)=x"+5x —x"—x—7]

_1_[Q(x)=5x3—2x2—3x} 2_[ Q(x)=5x-2 }
T R(x)=—x+1 TR =-3x—x+1
_ _| Qx)=x _Q(x):x3_4}
Ans7 = '3_[R(x)=2x+l} .4—[ R(x) = 10
5_{Q(x)=4x3+12x} 6_[Q(x):x3+3}
. 7 L R(x)=36x+5 L R(x)=-3 ]
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RealOl Answers for No.11945

Ansl =[a=0,b=0,c=0]
d=[p(x)+q(x)=5x"+x-3] 2=[p(x)-q(x)=-3x>—x+5]

[Page

0021]

Ans2=| 3=[q(x)-p(x)=3x"+x-5] 4=[mp(x)-nq(x)=—-18x"—5x+22]
S=[p(x)qx)=4x'+x +x-4] G=[[p(x)=x'+2x"+1]
Ans3=[p(x) q(x)=x*-6x=30x =31x*+36x+30]
Ansd=[a+b=-2,ab=-15], , AnsS5=[a=-3,b=5,ab=-15]
Ans6=[P(x)=x"+7x —6x*=37x—-6]

_]:[Q(x)=4x3—3x2+4x—2} :[Q(x):4x2—3x+4} ]
' R(x)=4x+1 R(x)=—2x"+4x+1
7 ‘3:{ Qx)=x } ‘4:[Q(x):x3+3x2—5x+12}
R(x)=—x—-4 R(x)=-25
5_{Q(X)=3x3—31 6_[Q(x)=x3+7}
L L R(x)=3x+4 L R(x)=17
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X

RealOl Answers for No.12216

Ansl =[a=-3,b=-4,c=0]

d=[p(x)+q(x)=5x"-3x-28]

Ans2 = 3=[q(x)—p(x)=3x"—3x]

2=[p(x)—q(x)=

-3x*+3x]

4=[mp(x)-nq(x)=-17x>+15x + 8]

S=[p(x)q(x)=4x"—3x-20x*+ 12 x+ 16]
Ans3=[p(x)q(x)=x"-x = 10x*+ 12 =6 x> = 12 x + 24]

Ans4d=[a+b=-6,ab=28],

6=[[p(x)]=x" -

, AnsS=[a=4,b=3,ab=12]

Ans6=[P(x)=x"+5x —6x"—26x+1]

:

_]_[Q(x)=x3+4x2+3x+4

B R(x)=-3x+3
3:[ Q(x) = }

’ R(x)=-5x-3

5_{Q(x)=4x3—8x}
LR(x)=16x+5

Ans7 =

0022]
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Qx)=x"+2x"=Tx+11

.6

Qx)=x"+4x+3
R(x)=4x"-3x+3

R(x)=-23
_ [Q(x) =x + 6}
L R(x)=4

8x*+16]

3
|
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RealOl Answers for No.13077

Ansl =[a=1,b=3,c=-1]

d=[p(x)+q(x)=3x"+3x—28] 2=[p(x)-q(x)=—x"—-3x]
Ans2 = 3=[q(x)—p(x)=x"+3x] 4=[mp(x)-nq(x)=—4x"—9x+4]
S=[p(x)q(x)=2x"+3x - 125"~ 12x + 16] 6=[[p(x)=x"-8x"+16]

Ans3=[p(x) q(x)=x*+6x +24x —19x* = 18 x + 12]
Ansd=[a+b=1,ab=-72], , AnsS=[a=6,b=4,ab=24]
Ans6=[P(x)=x4—4x3+7x2—26x+1]

_1_[Q(x)=3x4+2x3+2} 2_[Q(x)=3x2+2x} |
T R(x)=-2 L R(x)=2x-2

_ _ Q(x):x} _{Q(x)=x3+6x2+22x+68}
A= '3_[R(x)=x—6 4= R(x) =205
5_[Q(X)=3x3—9)1 6_[Q(x)=x3+3}

L 7 LR(x)=27x+4 ~ L R(x)=-10 ]

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXKXXXKXKKXXXKKKXXXKKKXKXXXKKKXKXXXKKKXXXKKKXKXKKKKXXKKK XX KKKK XX KKK KX KKKK XK KKK KKK KKK KKKKK



X

X

Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX X XXX XXX XXX XXX XXX X XXX XXX XXX XXX XXX XXX XXX XXXXXXXME /1-6800103-00024XX
RealOl Answers for No.13084

Ansl =[a=-1,b=1,¢=0]

d=[p(x)+q(x)=3x"-5x—4] 2=[p(x)—q(x)=-x*+5x]
Ans2 = 3=[q(x)-p(x)=x"—5x] 4=[mp(x)-nq(x)=x"+10x - 6]
S=[p(x)q(x)=2x" -5~ 61" +10x+4] 6=[[p(x)=x"—4x" +4]

Ans3=[p(x)q(x)=x*+2x —4x'—6x —16x"+ 16 x + 16]
Ansd=[a+b=-4,ab=-21], , AnsS=[a=2,b=1,ab=2]
Ans6=[P(x):x4—2x3—x2+7x+4]

]:{Q(x)=2x4+x3+x2—2x} QZ[Q(x)=2x2+x+l}
R(x)=-1 ' R(x)=-2x*—1
Ans7 = '3:{ Q(x) =x } ‘4:[Q(X)=x3+3x2+8x+16}
R(x):4x+2 R(x):33
5:{Q(x)=3x3+6x} 6={Q(x)=x3+4}
L R(x)=12x-2 ' R(x)=0 ]
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RealOl Answers for No.13098

Ansl =[a=-1,b=0,c=4]
d=[p(x)+q(x)=4x>-3x-10] 2=[p(x)-q(x)=-2x"+3x]
3=[q(x)-p(x)=2x"-3x] 4=[mp(x)-nq(x)=-12x*+15x+10]
S=[p(x)q(x)=3x"=3x=20x"+15x +25] 6=[[p(x)=x'—10x"+25]
Ans3=[p(x)q(x)=x*=5x +15x =4 x> =25 x+ 15]
Ansd=[a+b=8,ab=15], , AnsS=[a=-4,b=2,ab=-8]
Ans6=[P(x)=x4—7x3—4x2+32x+ 1]

Ans2 =

X

¥

_ _ Q(x)=x } _[Q(x):x3+2x2—5x+14}
Ans7 = '3_[R(x):4x—7 4= R(x) = -41
5_{Q(X)=4x3+81 6_[Q(x)=x3+7}
L " LR(x)=16x+3 L R(x)=18 i
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Qx)=2x"+4x" +3x+2
R(x)=-4x

|

_{ Q(x)=2x+4 }
B R(x):3x3+2x2—4x
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RealOl Answers for No.13790

Ansl =[a=2,b=3,c=3]
2=[p(x)-q(x)==3x"+3x-5]
4=[mp(x)-nq(x)=-8x"+9x— 18]

6=[[p(x)=x"—6x"+9]
Ans3=[p(x)q(x)=x+4x —6x" = 12X +3x* =24 x + 18]

d=[p(x)+q(x)=5x"-3x-1]

o]

, AnsS=[a=-3,b=1,ab=-3]

Q(x)=4x-3
R(x)=—=2x=3x"+2x+3

o
.|

Q(x)=x3+4x— 8
R(x)=20
Q(x)zx3 + 7}

Ans2 = .3:[q(x)—p(x)=3x2—3x+5]
S=[p(x)qx)=4x"-3x-10x"+9x—-6]
Ansd=[a+b=12,ab=27],
Ans6=[P(x):x4+3x3+x2+5x—1]
_1_[Q(x)=4x4—3x3—2x2—3x+2
T R(x)=3
_ _ Q(X)=X}
Ans7 = '3_[R(x):7x—4
5_{Q(x)=2x3+4x}
L L R(x)=8x+3

X [Page = 00206]

R(x)=12

}_
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RealOl Answers for No.13792

Ansl=[a=0,b=-1,c=3]

JI=[p(x)+q(x)=3x"+3x+1] 2=[p(x)—q(x)=—x"—3x+3]
Ans2 = 3=[q(x)-p(x)=x"+3x-3] 4=[mp(x)-nq(x)=-8x"—15x+9]
S=[p(x)qx)=2x"+3x+3x" +6x-2] 6=[[p(x) ) =x"+4x"+4]

Ans3=[p(x)q(x)=x"=5x'+6x =5x* = 17x+20]
Ansd=[a+b=-11,ab=28], , AnsS=[a=4,b=5,ab=20]
Ans6=[P(x)=x"—4x —=7x*+31x—-1]
—']:[Q(x)=x4—x3—x—3} '2:[ Q)= -1 }
R(x)=3 R(x)=—x"-3x+3
7 ‘3:{ Q(x) =x } '4:[Q(x):x3+7x2+20x+56}

R(x)=—4x-6 R(x) =166
5_[Q(X)=4x3—8)1 6_{Q(X)=x3+8}
. 7 LR(x)=16x+5 L R(x)=27 ]
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RealOl Answers for No.13794

Ansl=[a=-3,b=4,c=3]
d=[p(x)+q(x)=4x"+3x+3] 2=[p(x)-q(x)=—2x"-3x+5]

X

Ans2 = 3=[q(x)-p(x)=2x"+3x-5] 4=[mp(x)—nq(x)=-7x"=9x+11]
S=[p(x)qx)=3x"+3x+11x*+12x—4] 6=[[p(x)=x"+8x"+16]
Ans3:[p(x)q(x):x6—2x5+2x4—5x3+7x2—4x—6]
Ans4d=[a+b=6,ab=5], , AnsS=[a=5,b=6,ab=30]
Ans6=[P(x)=x"+2x -5x" = 5x+7]

—]:{Q(x)=3x4+2x3+2x2+3x+2} 2:[Q(x):3x2+2x+2} |
' R(x)=0 R(x)=3x"+2x

7 ‘3:[ Q(x)=x } ‘4:[Q(x):x3+6x2+16x+47}
R(x)=-5x-6 R(x) =144
5:[Q(x):3x3+6x} '6:{Q(x)=x3+6}

L R(x)=12x+5 R(x)=12 ]

0028]
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RealOl Answers for No.13795

Ansl =[a=2,b=0,c=-2]

J=[p(x)+q(x)=5x"+x] 2=[p(x)-q(x)=-3x"—x+6]
Ans2 = 3=[q(x)-p(x)=3x"+x—-6] 4=[mp(x)-nq(x)=—11x"—4x+27]
S=[p(x)qx)=4x"+x+9x+3x-9] G=[[p(x)=x'+6x"+9]

Ans3=[p(x)q(x)=x*-3x +5x" = 5x +12x = 16 x— 15]
Ansd=[a+b=-1,ab=-42], , AnsS=[a=-4,b=1,ab=-4]
Ans6=[P(x)=x"-2x -6x>+18x+1]

_]:|:Q(x):2x3_2x2_3x+4} 2:[Q(x):2x2_2x_3:|_
’ R(x)=—-2x+1 TR =4 -2x+1
AnsT < _3:[ Q(x)=x } ‘4:[Q(x):x3+x2+2}
R(x)=7x-4 R(x)=-5
5_{Q(X)=2x3—4X} 6_[Q(x)=x3+2}
. L R(x)=8x-3 L R(x)=1 ]
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RealOl Answers for No.13831

Ans2 =

Ans4d=[a+b=10,ab=21],

o

Ans7 =

X [Page = 0030]

Ansl =[a=0,b=-1,c=1]
d=[p(x)+q(x)=4x"+3x-6]

3=[q(x)-p(x)=2x"+3x-4]
S=[p(x) q(x):3x4+3x3—

2=[p(x)-q(x)=-2x"-3x+4]
4=[mp(x)-nq(x)=—4x"-9x+10]
G=[[p(x)=x'—2x"+1]
Ans3=[p(x)q(x)=x’+5x +3x +30x° = 13 x> +25x - 15]

8x'—3x+5]

, AnsS=[a=-4,b=6,ab=-24]

Ans6=[P(x)=x"—6x +4x*—20x+5]

Qx)=4x+4x +4x-3
R(x)=-4x+4
3:[ Q(x) = }
’ R(x)=5x+5
5:[Q(x):2x3—4x
R(x)=8x-5

|

B

:

Q(x)=4x+4
R(x)=4x-3x"—4x+4
Q(x)=x"+8x"+23x+71

R(x) =209
6:[Q(x):x3+4}
R(x)=-13

}_

|
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RealOl Answers for No.13891

Ansl =[a=0,b=2,c=2]

d=[p(x)+q(x)=5x"—x+5] 2=[p(x)-q(x)=-3x*+x-3]
Ans2 = 3=[q(x)—p(x)=3x"—x+3] 4=[mp(x)—nq(x)=-10x"+3 x—10]
S=[p(x)qx)=4x"—x +8x" —x+4] 6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"+5x"+6 X’ +15x* = 17x-10]
Ansd=[a+b=5ab=-6], , AnsS=[a=-7,b=4,ab=-28]
Ans6=[P(x)=x"—6x —4x*+28x—7]

—]:[Q(x)=5x4+2x3—2x2—2x} 2:[Q(x):5x2+2x—2} ]
' R(x)=-2 ' R(x)=-2x"-2
dns7 '3:[ Q(x)=x } ‘4:{Q(x):x3+4x2+8x+21}
R(x)=7x+6 R(x) =159
5:{Q(X)=2x3—21 ‘6:[Q(X):x3+3}
L R(x)=2x+5 R(x)=6 ]
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RealOl Answers for No.13915

Ansl =[a=-2,b=0,c=-3]
=[p(x)+q(x)=3x"+2x+7] 2=[p(x)—q(x)=—x"—2x+1]
Ans2 = 3=[qx)-p(x)=x"+2x—1] 4=[mp(x)—nq(x)=—x"—6x+11]
S=[p(x)q(x)=2x"+2x"+ 115"+ 8x+12] 6=[[p(x)=x"+8x"+16]

Ans3=[p(x)q(x)=x"+2x'+9x° +5x* + 14x— 15]
Ans4d=[a+b=5ab=-24], , AnsS=[a=-1,b=6,ab=-6]
Ans6=[P(x)=x"+5x =3x"—10x+1]

_1_[Q(X)=2x3_4x2+3x} 2_[ Qx)=2x-4 }
o R(x)=x+2 “TIR(x) =35 4 x 42

'3:[ Q(x)=x } '4:{Q(x):x3+5x2+13x+39}

Ans7 = R(x)=-7x+2 R(x)=116
5_[Q(X)=3x3—6)1 6_[Q(x)=x3+2}
L 7 LR(x)=12x+2 UL R =7 .
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RealOl Answers for No.14004

Ansl =[a=0,b=2,c=-2]
2=[p(x)—q(x)=-2x"-x—1]
3=[qx)-p(x)=2x"+x+1] 4=[mp(x)-nq(x)=-Tx"=3x-7]
S=[p(x)q(x)=3x"+X +17x° +4x+20] 6=[[px)=x"+8x"+16]
Ans3=[p(x) q(x)=x*+2x +3x"+3x =3 x— 18]
Ans4=[a+b=-10,ab=16], , AnsS=[a=-4,b=6,ab=-24]
Ans6=[P(x)=x"-3x +4x —8x+5]

d=[p(x)+q(x)=4x"+x+9]
Ans2 =

X

—1_[Q(x)=5x4+3x3—2x2+x+1} 2_[ Qx)=5x+3 }
T R(x)=-4 TR =2+ +x—4
_ | Q)=x _Q(x)=x3+4x—4}
Ans7 = '3_[R(x):—4x+3} 4—{ R(x)= 10
5_[Q(x):3x3+9x} 6_[Q(x):x3+4}
L LR(x)=27x-2 L R(x)=2 ]
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RealOl Answers for No.14013

Ansl=[a=1,b=0,c=0]
d=[p(x)+q(x)=4x"—x+7] 2=[p(x)-q(x)==2x"+x+3]
Ans2 = 3=[qx)-p(x)=2x"—x—-3] 4=[mp(x)-nq(x)=-13 x> +5x]
S=[p(x)qx)=3x"-xX+17x*=5x+10] .6=[[p(x)]*=x"+10x"+25]
Ans3=[p(x)q(x)=x*+6x +10x*+36x’ + 18 x* =36 x — 24]
Ansd=[a+b=-3,ab=-54], , AnsS5=[a=-5,b=3,ab=-15]
Ans6=[P(x)=x4+6x3+7x2+47x—4]

—]_[Q(x)=x4+4x3+2x2+4} 2_[Q(x):x2+4x+2} |
o R(x)=-3 "L R(x)=4x-3

_ _ Q(x)=x } _{Q(x)=x3+3x2—7x+14}
Ans7 = '3_{R(x):—7x—3 4= R(x)=-29
5_{Q(X)=2x3—41 6_{Q(x)=x3+4}

L L R(x)=8x-5 7L R(x)=11 |
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RealOl Answers for No.14037

Ansl =[a=4,b=-4,c=13]
d=[p(x)+q(x)=3x"-x+9] 2=[p(x)-q(x)=—x"+x+1]
Ans2 = 3=[q(x)=p(x)=x"—x—1] 4=[mp(x)-nq(x)=—-6x"+5x]
S=[p(x)qx)=2x"=x+14x"=5x+20] .6=[[p(x)]*=x"+10x"+25]
Ans3=[p(x)q(x)=x"-3x"=20x" +8x* - 12 x + 8]
Ansd=[a+b=-3,ab=-54], , AnsS=[a=3,b=6,ab=18]
Ans6:[P(x)=x4—5x3—x2+llx—1]

ol

]:[Q(X):x3_4x2+3x—l} 2:[Q(x)=x2—4x+3}
' R(x)=-2x ' R(x)=—x*—2x
Ans7 = ‘3:{ Q(x)=x } ‘4:[Q(x):x3+5x2+6x+16}
R(x):5x+5 R(x):31
5:{Q<x)=3x3-9ﬂ 6:[Q(x)=x3+4}
L R(x)=27x-4 ' R(x)=0 ]
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RealOl Answers for No.14452

Ansl =[a=-1,b=0,c=-2]
.]:[p(x)+q(x):3x2—2x+1] ,2:[p(x)—q(x):—x2+2x+3]
3=[q(x)-p(x)=x"—2x-3] 4=[mp(x)—nq(x)=-3x>+8x+14]

S=[p(x)q(x)=2x"-2x"+3x"—4x-2] 6=[[p(x)* =x*+4x>+4]
Ans3=[p(x)q(x)=x"+2x'+3 X’ +8x =26 x+ 12]
Ansd=[a+b=-5,ab=-6], , AnsS5=[a=3,b=2,ab=6]
Ans6:[P(x)=x4—x3—7x2+llx—1]

_]:[Q(x):x4_3x3+2x2+x+3} 2:[Q(x)=x2—3x+2} ]
| R(x)=4 R(x)=x"+3x+4

Ans2 =

X

Ans7 =

[Page = 0030]

Q(x)=x }

‘3:[R(x)=—6x—3

.|
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Q(x):3x3—3x}
R(x)=3x+4

4:{Q(x)=x3+6x2+16x+33

R(x) =67

6_[Q(x) =x +2}
7L R(x)=-4

|
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RealOl Answers for No.14823

Ansl=[a=1,b=0,c=4]
1 =[p(x) +q(x)=4x"+x-2] 2=[p(x) = q(x) =-2x" —x]

X

Ans2 = 3=[q(x)-p(x)=2x"+x] 4=[mp(x)-nq(x)=-5x"-3x-1]
S=[p(x)qx)=3x"+x —4x"—x+1] 6=[[p(x)P=x"—2x"+1]
Ans3=[p(x)q(x)=x*-8x +20x*—25x" +5x* = 15x +25]
Ansd=[a+b=T7,ab=6], , AnsS=[a=T7,b=6,ab=42]
Ans6=[P(x)=x"+3x —6x"— 14x—7]

_]:{Q(x):x4+3x3+4x2—3x—1} :[Q(x)=x2+3x+4} ]
. R(x)=4 R(x)=-3x"—x+4
7 ‘3:[ Q(x)=x } ‘4:[Q(x):x3+5x2+15x+42}
R(x)=-3x+7 R(x) =122
5:[Q(x):3x3—6x} '6:[Q(x):x3+7}
L R(x)=12x-5 R(x)=12

0037]
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RealOl Answers for No.14824

Ansl =[a=-2,b=

d=[p(x)+q(x)=3x"+2x+1]

Ans2 =

3=[q(x)-p(x)=x"+2x+9]
S=[px)qx)=2x"+2x -3x"—8x-20]

0,c¢=0]
2=[p(x)-q(x)=—x*-2x
A4 =[mp(x)—nq(x)=-5 x*—8

Ans3=[p(x)q(x)=x*-11x"+33x" = 18X’ + 6 x* =30 x + 18]

Ans4d=[a+b=-3,ab=-28],

N

Ans7 =

X [Page = 0038]

, AnsS=[a=-4,b=3,ab=-12]

Ans6=[P(x)=x"+6x —7x*—38x+7]

Qx)=5x"+3x-3x"—4x-1

R(x)=3
5= }

Q(x)=x
R(x)=5x-7
5_{Q(x)=3x3—3x}
L R(x)=3x-4

} [ Q(x)=5x+3

2= 3 2
R(x)=-3x -4x"—-x+3

'4:{Q(x)=x3—x2+x—4}

R(x)=14
6:[Q(x) =x + 7}

R(x)=8

_9]
x—32]

G6=[[p(x) =x"'—8x"+16]

}_
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RealOl Answers for No.14847

Ansl =[a=4,b=0,c=2]

d=[p(x)+q(x)=4x"+3x-2] 2=[p(x)-q(x)=—2x"-3x-6]
Ans2 = 3=[q(x)-p(x)=2x"+3x+6] 4=[mp(x)—nq(x)=-5x"-9x-22]
S=[p(x)q(x)=3x"+3x" - 10" - 12x - 8] 6=[[p(x)=x"-8x"+16]

Ans3=[p(x)q(x)=x"-3x =5x"+2x -3x = 19x—15]
Ansd=[a+b=13,ab=40], , AnsS=[a=-2,b=5,ab=-10]
Ans6=[P(x)=x"+6x -3x = 13x-2]

]:|:Q(x):2x4_4x3_3x2+3x} 2:[Q(x):2x2_4x_3:|
| R(x)=4 ' R(x)=3x"+4
Ans7 = ”3:[ Q(x)=x } ‘4::[Q(x)zxﬁ_ig_+4}
R(x)=—6x+1 R(x)=-4
5=[Q(x)=2x3+6x} 6:[Q(x)=x3—l}
L R(x)=18x+3 ) R(x)=8 ]
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X

RealOl Answers for No.14881

1 =[p(x)+q(x)=

Ansl=[a=0,b=1,c=-3]

3x+3x+2]

2=[p(x)-q(x)==x*-3x—-6]
4=[mp(x)—nq(x)=-3x"—12x—-26]

G6=[[p(x)] =x'—4x"+4]
Ans3=[p(x)q(x)=x+4x —2x" —4x —11x*+28x—10]

, AnsS=[a=-2,b=5,ab=-10]

Ans6=[P(x)=x"+5x —6x"—=25x—1]

Ans2 = 3=[q(x)-p(x)=x"+3x+6]
S=[p(x)q(x)=2x"+3x —6x—28]
Ans4=[a+b=2,ab=-8],
_]_[Q(x)=5x4—x3—4x2+3x—3
C R(x)=4
Ans7 = ,3:[ Qx) =x }
R(x)=4x+4

0040]
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R(x)=36x+3
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|

-4

_[Q(x)szz—x—4} |
IR(x)=3x"-3x+4
Q(x)=x3+2x2—7x+13}

R(x)=-27
6_[Q(x) =% + 5}
7L R(x)=20 i
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RealOl Answers for No.14911

Ansl =[a=-3,b=-4,c=1]
d=[p(x)+q(x)=4x"-2x+10]

2=[p(x)—q(x)=—2x"+2x]
Ans2 = 3=[q(x)-p(x)=2x"-2x] 4=[mp(x)-nq(x)=—-4x"+6x+10]
S=[p(x)q(x)=3x"—2x+20x" =10 x +25] 6=[[p(x)=x"+10x"+25]
Ans3=[p(x)q(x)=x"+x" = 11x =20 x" + 10 x + 25]
Ansd=[a+b=-2,ab=-3], , AnsS=[a=-1,b=2,ab=-2]
Ans6=[P(x)=x"—6x =3x*+23x-7]
_1_[Q(x):5x4+3x3+x2+x} 2_[ Q(x)=5x+3 }
T R(x)=2 R(x)=x"+x"+2
_ _ Q(x)=x } _[Q(x):x3+3x2+8x+16}
Ans7 = '3_[R(x):—7x—6 4= R(x) =35
5_{Q(X)=3x3—31 6_{Q(x)=x3+2}
L 7 L R(x)=3x+2 7L R(x)=1
X [Page = 0041]
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X

RealOl Answers for No.15009

Ansl =[a=2,b=1,c=2]
2=[p(x)-q(x)=-2x"-2x-3]

d=[p(x)+q(x)=4x"+2x+7]

Ans2 = .3:[q(x)—p(x)=2x2+2x+3]

S=[p(x)q(x)=3x"+2xX +11x* +4x+10]
Ans3=[p(x)q(x)=x"-2x"—6x =x*+20x—10]

Ans4=[a+b=9,ab=28],

6=[[p(x) =x*+4x

, AnsS=[a=T7,b=5,ab=35]

Ans6:[P(x):x4—5x3+2x2—5x—4]
2_[Q(x)=4x2—3x—3

—]_{Q(x)=4x4—3x3—3x2+4x+4
o R(x)=2

3:[ Q(x) = }
) R(x)=-4x-4

5_[Q(x):3x3—3x}
L R(x)=3x-2

Ans7 =

0042]
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R(x)=4x*+4x+2

Qx)=x+7x+ 16x+28}

R(x) =61
6_{Q(x) =% + 8}
7L R(x)=18

4=[mp(x)-nq(x)=-11x*"-10x-17]
>4 4]
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RealOl Answers for No.15014

Ansl =[a=-5,b=1,c=0]
d=[p(x)+q(x)=3x"-3x+7] 2=[p(x)-q(x)==x>+3x-3]
3=[q(x)-p(x)=x"-3x+3] 4=[mp(x)-nq(x)=-3x"+12x—-10]

S=[p(x)qx)=2x"-3x+9x-6x+10] G6=[[p(x)=x'+4x"+4]
Ans3=[p(x)q(x)=x"+2x =5x"+3x +4x* = 19x+10]
Ansd=[a+b=-5,ab=6], , AnsS=[a=6,b=1,ab=06]
Ans6=[P(x)=x"=5x -2x"+12x—-1]

Ans2 =

_1_[Q(x)=3x4+4x3+3x+2} _[ Q(x)=3x+4 }
T R(x)=-3 TIR(x)=3x"+2x-3
_ _ Q(x)=X} _{Q(x)=x3+5x2+6x+8}
A= _[R(x)=2x—5 7= R(x)=12
5_[Q(X)=3x3—3)1 6_[Q(x)=x3+3}
L L R(x)=3x-4 L R(x)=-8 ]
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